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BlEi[EEE 2 2 ) GCM EER

« GCM FE

— Joshi et al. (1997):
CO2 atmosphere, O=1/16QE

— Joshi (2003): aqua planet, Q/QE=1

— Merlis and Schneider (2010):
aqua planet, Q/QE=1/365~1

— Edson et al. (2011):
aqua planet, Q/QE=1/100~1

— Heng and Vogt (2011):Gliese581g

— Noda et al. (2012):
aqua planet, Q/QE=0~3, Solar constant is also changed.

— Yang et al. (2013)
aqua planet, Q/QE=1/37,, Solar constant is also changed.
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« RRAKRBEEETIL: dcpamb
— http:www.gfd-dennou.org/library/dcpam/
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(Walker et al, 1981)

W~Rain(PiC0OI2 )10.3 exp(7ls—285/17.7 )
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Rain: B§7K I:)COZ CO2 \J:T: http://www.ep.sci.hokudai.ac.jp/~keikei/enlighten/earth.html
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